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AÇO

POSITIVO (m)

AÇO

POSITIVO (kg)

L1 281.16 68.88

L1 308 75.46

L2 27.04 6.62

L2 27.17 6.65

L3 14.85 3.63

L3 19.8 4.85

L4 26.65 6.53

L4 26 6.37

L5 121.68 29.81

L5 113 27.68

L6 13.75 3.36

L6 100.7 24.67

L7 51.3 12.56

L7 51.85 12.7

L8 157.68 38.63

L8 152.55 37.37

L9 85.5 20.94

L9 81.09 19.86

L10 39.9 9.77

L10 41.65 10.2

L11 30 7.35

L11 30.75 7.53

L12 55.5 13.59

L12 109.94 26.93

L12 29.28 7.17

L12 90.4 22.14

L13 28 6.85

L13 24.4 5.97

L14 39.9 9.77

L14 48.45 11.88

L15 51.3 12.56

L15 50.49 12.37

L16 83.7 20.5

L16 89.32 21.88

L17 24.8 6.07

L17 22.08 5.4

L18 24.8 6.07

L18 22.08 5.4

TOTAL 2697.31 660.84

AÇO

NEGATIVO

(m)

AÇO

NEGATIVO

(Kg)

20,4 4,9

103,7 25,23

122,2 29,89

145,8 35,52

17,4 4,16

17,4 4,16

17,4 4,16

211,2 51,69

44
10,78

32,4 7,84

22,5 5,39

44
10,78

59,4 14,45

113,4 27,68

59,4 14,45

52,2 12,74

39,95 9,55

33,35 8,08

72,45 17,64

25,2 6,12

25,2 6,12

39,95 9,55

81,4 19,84

17,4 4,17

25,2 6,13

20,5 4,9

39,95 9,56

17,5 4,17

17,5 4,17

113,4 27,69

103,7 25,24

14,5 3,43

25,2 6,13

39,95 9,56

32,4 7,84

24,65 5,88

12,5 2,94

12,5 2,94

23,36 5,64

23,36 5,64

23,36 5,64

25
6,13

74,45 18,13

TOTAL 2086,68 511,24
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ARMAÇÃO NEGATIVA LAJE

ARMAÇÃO POSITIVA LAJE

ALIMENTAÇÃO

ELETRICA

CONCRETO (blocos,

vigas, pilares e laje)

Usar concreto de 25 MPa

LEGENDA

Usinado

preferencialmente ou

obedecer traço (1:2:3)

Cimento : Areia media :

Brita 1 : A/C < 0,6
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